A2

| saw him the supermarket.
Answer:

She was a book when | called her.
Answer:

They have been for three hours.
Answer:

He had already

Answer:

his homework.

I will be
Answer:

late to the party.

She is
Answer:

in the music concert.

The dog was
Answer:

in the park.

They were
Answer:

to the beach.

Il am

Answer:

my car tomorrow.

He has
Answer:

his coffee.




Answers

| saw him the supermarket.

Answer: leaving

She was a book when | called her.

Answer: reading

They have been for three hours.

Answer: studying

He had already his homework.
Answer: finished

I will be late to the party.

Answer: running

She is in the music concert.

Answer: performing

The dog was in the park.

Answer: playing

They were to the beach.

Answer: going

Il am my car tomorrow.

Answer: selling

He has his coffee.
Answer: drunk



